Specifiche tecniche del Geodatabase — Allegato 2: Schema fisico DB modello di simulazione geotermica

class modello /

simulazioni_inverse |

wcolumnx

“FK id

gen: text
ini: text

inp: text

mes: text

out: text

i_dat text

i_inp: text

i_out text
nome: varchar(-5)

inversa: integer = nextval(simuls...

bloceo: bytea

«PKa

+  pi_simulazioni_inverse(integer)

output_originali B

«columna

*PK id_output:_integer = nextval{output

*FKa

FK id_simulazione: integer
bloceo: bytea

P

+  pi_output_originalefinteger)

+  fi_output_simulazionifintzger)

+pi_simulazioni_inverse

fid_simul

indom

lumns
“FK id_simulazione: bigint
mat: varchar(s)

gati_originali: text

*1: double precision
x2: double precision
x3: double precision
x4 double precision
comb_cond_ini_desar

“PK id_indom: _integer = nextval(lindom_.

0-

Pl

+  piindomiinteger)

«FKa

+  fi_indom_simulszione(bigint)

+f_param_simulazioni 0..*

azione_inverse = id_simulazione_invers)
Te— .
+fi_isimulazini

+f_indom_simulazions:
=

0

lista_grandezze._fisiche

|

«columns
*PH id_lista_prandezza_fisica: ints
grandszza_fisica: varchar
descrizions: varch:

or = nextval{lists _

domini D

«columns
“Fi {d_dominio:_integer = nextval{domini...
nome: varchar(100]
Iat_min: double pracision
Iat_max: double pr
lang_min: double
lang_max: double preci

Pl
+  pi_dominifinteger)

Pl
+  pi_lista_grandezze_fisiche(integer)

moduli_eos

|

«columnz

+fi_output simulszioni

simulazioni_isimulazion: =

«columns
sis| *pfi id_simulazione: integer
“piK id_simulszione inversa. integer

+

Pl
+  pi_simulazioni_isimulezionifinteger. integer]
aFKs

+  fisimulazioni_sis(integer)

fi_simulazioni_sis(integer)

poan B

parametri_tough2

E|

wcolumns
“PK id_parametro_tough2: integ
FK id_simulazione: integer

dati_gen: bytes

dati_inp: bytea

dati_mes: bytes

dati_ini; bylea

nextvall

parame..

Pl
+  pi_parameti_tough2(integer)
«FHa

+ f_param_simulszionifinteger)

«columns
“PK id_rpcap: integer = nextval["RPCAP
FK id_simulazione: bigint

dati_originali: varchar(5)

irp: integer

1pl: double prec

double precision
double precision
double precision
- double precision
icp: integer
op1: double precision
double precision
: double preci
double precision
jouble pracisicn
: double precision
: double precision

0.

Pl

+  pi_rpesplinteger)

Fh

+ firpeep_simulazionifbigint)

{ig_simulazione = id_simulazicne)

{id_simulazione = id_simulazicne)

0.

“PK id_module_eos: integer = nextval(moduli..

modulo_eos: varchar(5)

«PKa

+  pi_moduli_eos(integer)

~p_moduli_scs 1

= id_simulazione)

+f_simulazioni_sis

=id,

{id_modulo_eos

+f_moduli_eos_simulszieni 0.

{id_dominio =

+p_domini

griglie3d B

scenari

dominic}

B

+f_scanari_domini| coolumn

0.

caratteristiche: texd

“PK id_scenaric: integ extval(scensr..
FK id_dominic: integer

«columnz

*PK id_griglis_integer = nextval{grigli

cat: intager
blodname: varcharB)
shrato: integer
mat: varchar(5)
x: double preci
y: double pracision
2! double precision
spessore: double precision
the_geom

FK id_griglia_lista: int=ger

+f_liste_griglie3d

«PKz
+  pk_scenarifinteger)
Fh

+  fi_scenar_dominifinteger)

pe—

+f_soensri_simulazioni 0.*

simulazioni

E|

«golumns

data: date

desarizions: text

{id_simulszione = id_simulszione)

e

+f_rpeap_simulszioni

+f_param_simulazioni 0.

param E|

«calumns
“PK id_parem: integer = nextvalfparam_.
FK id_simulazione: bigint

opzioni: text

x1: double precision

2 double precision

x3: double precisicn

x4 double precisicn

comb_cond_ini_descr: text

Pl
+  pi_psramiinteger)

FH

+ B _psram_simulazioni{bigint)

+_gener_simulazione 0.

{id_simulazione = id_simulazione)

gener |

«columnz

“PK id_gener. integer = nextvailgener ...

FK id_simulazione: b
el_ne: varchar(5)
si_ns: varchar(5)
nseq: integer
nadd: intager
nads integer
ltsb: integer
fype: varcher
itab: integer
gx double precision
ex double precision
hx: double precision
11: double precisicn

f2: double precision

3: double precisicn

blocoo: text

Pl
+  pi_generfinteger)

«FKs

+ f gener simulszione(bigint)

+pi_simulazion

=
+pi_simulszione

“PK id_simulazione: integer = nextval(simula.

ora: time with time zone

+fi_sim_simé | "Bk [d_simulaziane: integer

<P
+  pi_griglie3d(integer)

«cheds

+  enforce_geotype_the_geomi)
+  enforce_dims_the_gsom()

+  enforoe_sid_the_geomi)
«FHa

+ i lista_griglie3d{integer)

{id_grigliz = id_griglia)

+fi_sim_sims [0.*

simulazioni_griglie3d 5]

«golumns

“pfK id_griglia: Integer

]

+ s
1| «FKa

+  fimoduli_eos_simulszienifinteger)

+pk_simulezione:

FiK id_modulo_eos: integer +pk_
id_dominio: integ = o=
nome: varcher(50) 1 Pk
FK id_scenario: integer ) +  pisim_simd(integer, integer)
RS oFKs
B +  fisim_simS{integ

+ fi_soenari_;

El — 3
b simulazions foul dorph_sim-+ge_simulggi_smulezione

(id_simulazione = id_simulazions]

(ig_simulezione = id_simulazione)

+#ogs simalezioni 0.

rocks E|

wcolumns

*pfi id_simulazione: bigint

*PK mat: varchar(
dali_originali: text
nad: double precisio
diok: double pri
por: double precision
pert: double precision
per2: double precision
perd: double precision
owet: double precision
spht double pr
com: double predision
expan: double precision
cdry: double pr
tortx: doubl s
gk double predsion
#4d3: dousle precision
#d4: doutle precision
irp: integer
1p1: double precision
1p2: double predisiol

ision

sion

+  fi_sim_simé{integer]

(id_griglia_list

tipi_griglia

desaizione: varchar

«PKa

+  pi_tipi_griglia(intager)

+oi_ti_griglia’
-

1

{id_tipo_griglie = id_tipc_griglia)

g |rertetee

d_griglis_lists) wcolumns

+p_liste_grigli

“PK id_griglis_lista: integer = nextval[lists,

nome: varchar(20)
7| desoizione: varcha
FK id_tipo_griglis: int

0.

«PKs

aFKo

+  pi_lista_grigliefinteger)

+  fi_grglia_tipofinteger)

<o lite_griglie/] 13 lte_griglie N1

(id_griglia_lista = id_griglis_lists)

+f_lists_griglieagin 0.."

griglie3d_irr =l
columns
“PK id_griglia: integer = nextval grigli...
cat; integer

blodname: varchar(s)
strato: integer

mat: varchar(s)

x: double precision

y: double precision

z: double precisi
spessare: double precision
the_geom

{id_griglia_lista = id_griglis_lists)

+f_lists_griglie2d 0.5

(id_griglis_lists = id_griglia_lists)

+_lista_griglieZgin
=i

qriglie2d

E|

<columns

cat integer
the_geom
FK id_griglia_liste

*PK id_griglia: integer = nextval(grigli

integer

origlie2d_irr B
«calumns
*PK id_griglis: integer = nextvallgrigli.
cat: integer
the_geom
FK id_griglis_lists: integer
0
Pl

+  pi_griglia2dininteges)
wcheds

+  enforoe_geotype_the_geomi)
+  enforce_dims_the_geom()

+  enforce_srid_the_geomi)
FHa

+  fi_lista_griglie2dininteger)

+pa_griglia2dirr

(id_griglia = id_griglis)

+h_sim_sim3 [0+

simulszioni_grigliezd_irr [

columns
“piK id_griglia: integer

“pfK id_simulazione: integer

Pk

+  pi_sim_grid2infinteger, integer)
«FKa

fi_sim_sim3integer)

#_sim_sim2 |+
o

e h ,
g id_: =id_ +ph_griglie2d_in| K id_griglia_lists: intege —
N +  pe_griglia3d(integer)
- aFHa
simulazioni_griglie3d_irr [ (1d_griglia =id_grighs) | "0 iens iminteger) schedia )
. +  enforce_geotype_the_geom(}
+fsim sim200| +i_sim_sim39 ez ; +  enforce_dims_the_gsom()
i inicger " +  enforce_geatype_the geom() +  enforce_srid_the_geom()
0| 4o id_simulsaione; inls 0.0 + enforce_dims_the_geom()
e integer ) K
[ +  enforce_sid_the_geom() i3
+  f_lista_griglia2d(integer)
«PKs e
+  pi_sim_sim7(integer, integer) * & lista_griglie3din{nteger) +ph_grigliazd /[\ 1
oFH
+  F_sim_sim200(intsger]
+  F_sim_sim39(integer}
lid_griglis = id_griglia)
fid_simulszione = id_simulszione]
i sl | i simeJ8_simulezicne = d_simulazione)
fid_simulazione = id_simulacgire {id_simulazione = id_simulazicne)
(id_simulazione = i {mulazicne) <t grigl_grigh[o.+
simulazioni_griglie2d =]
woolumna
*pfiC id_simulazione: intsger
*pfK id_griglis: integer
«Fha
+  p_simulazione_griglis2dfinteger, integer]
«FKa
Hsimu_gr - f_grigl_grigl{integer)
oot Fsim grilintegen)
+fi_grandezzefisiche_simulszioni 0.
#8_incon_simulezione 0.°
grandezze_fisiche_eos1d B
incon B
«columna )
*F_grfisecs1_simulezioni 0..*
Jumn “PIC id_grandezzs fisice: integer = naxtvaligrandz. | .
el_en: varchar(10) . : varchar8)
nseq: integer 5 ,‘Q:Z;ﬁ:“:i’, y grandezze_fisiche_eos1 H
nadd: integer p: dauble precision —
porc: integer t double precision =

1p3: double
1p4: double precisio

cp5: double precision
cpB: double preci

op7: double precisios
Pl
+  pi_rods(bigint, varchar)
«FH

+  f_rods_simulszionifbigint)

x1: double precision
x2: double precision
3 double precisi
x4: double preci
*PK id_incen: integer = nextvalfi a
FK id_simulszione: bigint
dati_originali: text
comb_cond_ini_desor: text

«PKa

+  p_inconfinteger)
aFKa

+  fi_incon_si

sg: double precision
sl: double precision

ss: double precision
#nac: double precision
pes2: double precision
#002!: double precision
peap: double precision
fv: double precision
dl: double precision
id_simulszions: integer
tempo: integer

o
=

«PKe

+  pi_grendezze fisichelinteger)

«FKa

+  B_grandezzefisiche_simulazicnifinteger)

index: integer

x_watl

-
=

id_simulazione:
tempo: integer

“PK id_grandezzs_fisica_eos!
elem: varchar(-5)
p: double precision
t: double predision
sg: double preckion
sw: double precision
double precision
x_wat2: double precision
peap: double precision
dg: double precision
dw: double pracision

integer = nextval(grands

integer

«PKe

aFKu

+  pi_grendezze fisiche_sost (integer]

+ i grfiseost_simulszionifinteger)

fi_sim_sim2(integ

'




